enVision Geometry Crosswalk

Unit 1 Standard

enVision Lesson(s)

KY.HS.G.1 A Lesson 1-1
> KY.HS.G.8 (Lessons 1-2, 2-2) > | Lesson 2-1
Lesson 9-3
Lesson 10-1
KY.HS.G.1 B Lesson 2-2
> KY.HS.G.22 — |Lesson 2-4
KY. HS.G.23 Lesson 1-3
> KY.HS. —

KY.HS.G.22 Lesson 2-2
> KY.HS.G.7, KY.HS.G.31 — | Lesson 2-3
Lesson 2-4

KY.HS.G.6 Lesson 1-4
> KYHS.G.7, KY.HS.G.11, — |Lesson 1-5
KY.HS.G.29 Lesson 1-6
Lesson 1-7

Lesson 1-8

Lesson 2-1

Lesson 2-2

Lesson 4-1

Lesson 4-2

Lesson 5-1

Lesson 5-2

KY.HS.G5A.B Lesson 4-3
— | Lesson 4-4

=> Denotes a supporting standard




enVision Geometry Crosswalk

Unit 2 Standard

enVision Lesson(s)

KY.HS.G.6
= KY.HS.G.1, KY.HS.G.7, KY.HS.G.22,
KY.HS.G.29, KY.HS.G.31

Lesson 5-1
Lesson 5-2
Lesson 5-3
Lesson 54
Lesson 5-5

KY.HS.G.2 A

Lesson 3-1
Lesson 3-2
Lesson 3-3
Lesson 7-1

KY.HS.G.2 B

l

Lesson 7-2

KY.HS.G.2C

l

Lesson 3-5

KY.HS.G4A,B,C

l

Lesson 3-1
Lesson 3-2
Lesson 3-3
Lesson 3-4
Lesson 3-5
Lesson 4-1
Lesson 4-3
Lesson 4-4
Lesson 7-1

KY.HS.G.9 A

l

Lesson 7-1

KY.HS.G.9B

l

Lesson 7-2

=> Denotes a supporting standard




enVision Geometry Crosswalk

Unit 3 Standard enVision Lesson(s)
KY.HS.G.27 Lesson 11-1
= KY.HS.G.28, KY.HS.G.29, > Lesson 11-2
KY.HS.G.30 Lesson 11-3
Lesson 11-4
KY.HS.G.25 A.B Lesson 11-2
> KY.HS.G.26(+), KY.HS.G.30 > Lesson 11-3
Lesson 11-4
KY.HS.G.6 Lesson 6-1
= KY.HS.G.7, KY.HS.G.21, ) Lesson 6-2
KY.HS.G.22, KY.HS.G.23 Lesson 6-3
Lesson 6-4
Lesson 6-5
Lesson 6-6
KY.HS.G.24 Lesson 6-4
> KY.HS.G.7, KY.HS.G.21, > Lesson 9-1
KY.HS.G.22, KY.HS.G.23
KY.HS.G.10 Lesson 7-3
= KY.HS.G.7 >
KY.HS.G.11 Lesson 7-4
= KY.HS.G. 5 KY.HS.G.7 KY.HS.G.10 > Lesson 7-5
Lesson 8-1

-> Denotes a supporting standard




enVision Geometry Crosswalk

Unit 4 Standard

enVision Lesson(s)

KY.HS.G.12 Lesson 8-1
= KY.HS.G.13 (+) & KY.HS.G.14 (+), — | Lesson 8-2
KY.HS.G.29 Lesson 8-5
KY.HS.G.19 Lesson 9-1
> KY.HS.G.1, KY.HS.G.15, KY.HS.G.21 — | Lesson 9-3
KY.HS.G.16 Lesson 10-1
> KY.HS.G.1, KY.HS.G.17 (+) & — | Lesson 10-4
KY.HS.G.18 (+) Lesson 10-5
HS.G. Lesson 10-2
KY.HS.G.16 C N

-> Denotes a supporting standard




